Converting Between mm, cm, m and km (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! o e o
s Ty 2 38 § 13 & 2 3 s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 25cm tom
Convert 9,020,000 m to km

Convert 0.0000836 km to cm

Convert 124,000 mm to m

Convert 0.012km to m

Convert 30,430,000 mm to m

Convert 83.53 cm to mm

Convert 57,910,000 cm to m

Convert 0.84 cm to mm

Convert 0.0000438 km to mm
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Converting Between mm, cm, m and km (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 25cm to m

25cm+10+10=0.25m

Convert 9,020,000 m to km

9,020,000m = 10 + 10 = 10 = 9020 km

Convert 0.0000836 km to cm

0.0000836km X 10 X 10 X 10 X 10 X 10 = 8.36 cm
Convert 124,000 mm to m

124,000mm =10 +-10+10=124m

Convert 0.012km to m

0.012km x 10X 10X 10 = 12m

Convert 30,430,000 mm to m

30,430,000 mm =10+ 10+ 10 = 30,430 m
Convert 83.53 cm to mm

83.53¢cm X 10 = 835.3 mm

Convert 57,910,000 cm to m

57,910,000cm =+ 10 = 10 = 579,100 m

Convert 0.84 cm to mm

0.84cm X 10 = 8.4mm

Convert 0.0000438 km to mm

0.0000438 km X 10 X 10 X 10 X 10 X 10 X 10 = 43.8 mm
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